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e J0ODDODOO-15<2 <10 [mm]

2BeD A/ZDDODDODOOO00O0O BB,°LIO0O0OOO AEDDDDDOO (O 3.28,3.29)00
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000D000000000000000 AE,0000000000000000 400
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BeOODOUO 0 32 43
oo BeOODO 217299




34. UBeO OO 51

e 1000000-16<z <8 [mm]

UBed A/ZOOOODD (A/Z=275)000000000 run(run0075) D000 “B O
000000 (O 3.41,3.42)0 YBe0 A/Z000000 (A/Z=275)000000000

Number of count
=9 - =9 -
(=] (=] (=] (=]

3] w - w

=
(=]

T

10

i

F2Si dE [MeV]

0 341: A/Z=275000000000000000000000A4/Z=2.7500000"Be,
UBODDOOODDOYBe, 0000 (run0085)0 O0O00F2SSD O AFE [MeV], 0 O00TOF [ns]

run(run0075) 0000 “BOOOOOO0O (O 3.41,342)000000000000 TOF
00000000000000000000000000000000000000000
00000000000000000000000000000000000000000
0000000000000000000000000000000000 400 SSDOO
ONalOOOOO0OODDO0OO0O0O00000000000000000000000000
O000O0O0TOFODOOOO000O0O0ONONONODODOODOD (O03.28,3.2000000000)
00000000000000000

00 1Bed A/ZD0DO00DDO00OO BB, 8LIOD0O0O00D0OO0O00OOO00OOOOTOFR
00000000000000000000000000000000000 AE, 000
00000000000004008SDO00NalOOO0O0D0DO0O0O0O0O0O0O0O0O0O0O0O0O0
AEODD0DODO0ODOODOO0DOOOODOOOOOOOOOOO0OO0O0O0O0000000 TOF, O
000000000000000 TOFOOODOOOO0O00000

000000000000000000000000000000 run0083000000
000000000000000O0o0oo

0 3.8: run0083, 00850 000000
run | 000 4B 13 8T oo

0083 | 405184 | 1.3£1.3 0 1.2+0.4 2.5£1.4
0085 | 531318 | 3.6£2.0 0.07+0.02 1.440.5 9+3
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Number of count
=9 -
(=] (=]
= "

=
(=)
w

¥
i 1;11

=
(=]
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I
gI

% o
10 E IH I
i

& ety

F2Si dE [MeV]

0 3.42: A/Z=27500000000000000000000000A/Z=2.7500000
UBe, 00 “BO"'Be, 0000 (run0085)0 00O F2SSD O AE [MeV], 000 TOF [ns]

BeOOOOODOO

00000 BeOODOOOOODOOOO 390 run0085 0000 BeO D OOOODOODO
gbobobobobod

000000000000 (iNV,,.=531318) 000000000 BeOOOOOOOO (Npee)
052461400 000000O00DO0ODOODO

OO0 BeOOOOOOODOOOOOOODODOODOOS, 2000000000000 20
%00000000000000Si1,20000000000000Npe,=52466400000
000 AN, .=5000000000000

000000 run0083000000000000000 (N] .=405184)00000000

wmc

0BeOOOODOOOO (Npee) O 4002270 AN,.=42 00 000000000000

3.5 YBeO OO
3.5.1 OO0OOOO

YBeDDOOOOO run0Orun0102, 01030 0000000000 run01030000000

gobodgobood

000000000 3430000000000000YBe0 00000000 DOODO
gboboboboboobooboooooooooon

e TOFO —78 < Tror < —75,29 < Trop < 32 [ns]

e F2SSDO 7.4 < AE < 9.6 [MeV]



3.5.

DBep OO

039: BeDDODODOOOOOOYBe, 0000 (run0085)

oo un Si200 Si300 Si400
A BeOODO 467244
ooooo 0
BeODOOO 0
B BeODOO 0 0 44160
ooood 44719 44719 0
BeOODOUO 0 0 0
C BeOODO 0 0 6477
goood 6744 6744 0
BeOODOO 0 0 267
D BeOODO 0 0 5623
ooooo 6013 6013 0
BeODOOO 0 0 390
E BeODOO 0 0 314
ooooo 470 390 0
BeOODOUO 0 80 156
F BeOODO 0 0 406
goood 2354 996 0
BeOODOO 0 1358 1948
G BeOODO 0 0 178
ooooo 545 545 0
BeOODOO 0 0 367
H BeO OO 0 132 164
ooood 313 81 0
BeOODOUO 0 100 149
1 BeOODO 0 14 27
ooooo 114 25 0
BeOODOO 0 75 87
J BeOODO 0 )
ooooo 481 0
BeOODOO 0 476
K BeOODO 0 2 18
ooooo 95 48 0
BeOODOUO 0 45 7
oo BeOODO 524614

93
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OLjii .

F2SSD [MeV]

4 4 7Li;fl'

-80 -7 -60 -50 -40

TOF [ns]

0 3.43: TOF-AEOD : Pile up 0000000000 5 %000000%Be, 0000
(run0103)0 0 00 F2SSD AE [MeV] , O 00 TOF |[ns]

e 1000000-16<2 < 12 [mm]

YBeD A/ZODODDODD (4/Z=25 000 %CO000000 (O 3.44,34500000
0000000 TOFOOOOOOOO0OO0OD0O0O0O0D0DO0O0O0O00000000000000
00000000000000000000000000000000000000000
00000000000000000000000000000000000000000
0004008SDOOONaIOOOOOOODOOOO0O00O0O0OOOODOO0OO00O0000
0000000000000000TOFOOOOO0O0000000000000 (07?72, ??
0000000D0)00000000000000000000 run0103(0 run0102) O O
PileupO0 OO0 PilewpO0O0O00000000000D0000 A/Z=250 15C, °Be, Pile
wpwlO00O0 YBeDOODOOOODOOODOODOOO0ODOOO0DOOOO0O “BeO Pile upO
0000000000000000000 Sil,200000Pileup00000000 9Be
00000000000000000000000 PileuwpO0O0O0O0D0O0O00O0OO ¥BeO
0000000000000000000000000 (N,)0000000 00 A/Z0
000000000 ®BOOODO0OO0O0O000000000O0TOFOOOOO0OOODOOO
000000000000000000000000 AE,00000000000000
00400 SSDOO0ONAODOOODOO0ODOOO0OODO0OO0OOOOOAEDODOOODOOD
000000000000000000000000000 TOF, 00000000000
00000 TOFOO0O0O0OOOO0O0O0000

000000000000000000000000000000 run0010200000
00000000000000000000



3.5. YBeO OO 55

E10°F -~
3 = o
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Y
10t
I =
a F
E | -
=] 3] -
Z10°E o
- : W
2] g
10§ I“%LP i
E i
ol %ﬁﬁﬂmwﬁ%
T WI
A R R P SR (1 1|
5 10 15 20 25

F2Si dE [MeV]

0 344: A/Z=25000000000000000000000A4/Z=25000001C,
10Be, 1'Be(Pile up) 000 00001YBe, 0000 (run0103)0 00000 DDODO ,000
F2SSD AFE [MeV]

E10°F -
= E R
o —
o :
]
=104
@ = -
2 r
[ C .
5 .0 5
Z10 E e z
2: T ‘qnl!!‘"u'
= o
- i
10 i 1
' ‘ H H
R | [P | 0

10

25
F2Si dE [MeV]

0 345: A/Z=2500000000000000000000000A/Z=2500000
15C, 00 Be, 00O Be(Pile up)0 °Be, 0000 (run0103)000000000 , 000
F2SSD AE [MeV]

0 3.10: run0102, 01030000000

run | 00O 21e 12 00
0102 | 685272 | 1.24+1.2 0.1 1.3+1.2
0103 | 415681 | 1.5+1.5 0.1 1.6+1.5
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BeOODOODOODO

UoobO0obD BeOOOOOOODOOODO 3110 run01030000 BeOOOOOOODO
goboobooooboog

0000DDoooooo (NV,,=415681) 000000000 BeO0O0OO000000 (Npee)
g3936sbbgunooanooononog

OO0 BeOOODOOOODOOOOODOODOOOSL, 2000000000000 20
%00000000000000S8i1,20000000000000 Npee=39365200000

O00 AN .=600000000000

000000 run0102000000000000000 (N} ,=685272) 00000000

wmc

O0BeOOOOOOOO (Npee) O 6490150 AN, .=80000000000000OO

3.5.2 0O0O0OO0OODO

WBeDDOOOO run00run0110,0111 00000000000 run01100000000

goboooog

000000000 3460000000000000YBe00000OD00ODO0O0O0O

2254
2g . -

S s, o~
% 15.8 Bf .
g g ]
(] A .
A + “Be
N 7.5 ;%: £

AL fHe

Li . el

® A T
-0 -0 -0 20
TOF [ns]

0 346: TOF-AEDOO : PileuwpO0OOOO0ODOO0OO0OO 10%000000YBe, 0000
(run0110)0 OO OF2SSD AFE [MeV], 0 00O TOF [ns]

gobooboooobooboooobooboon

e TOFO —53.5 < Tror < —50.5,53 < Tror < 56 [ns|



3.5.

DBep OO

0 3.11: BeO0DODODDDODOOOYBe, 0000 (run0103)

oo oo Si200 Si300 Si400
A BeOODO 349632
ooooo 0
BeODOOO 0
B BeODOO 0 0 35185
googd 35933 35933 0
BeOODOUO 0 0 748
C BeOODO 0 0 3204
goood 4004 4004 0
BeOODOO 0 0 800
D BeOODO 0 0 2999
ooooo 3534 3534 0
BeODOOO 0 0 935
E BeODOO 0 0 310
ooooo 643 434 0
BeOODOUO 0 209 333
F BeOODO 0 0 951
goood 2354 1088 0
BeOODOO 0 1266 1803
G BeOODO 0 0 89
ooooo 2432 2432 0
BeOODOO 0 0 2343
H BeO OO 0 1331 1344
ooood 1766 84 0
BeOODOUO 0 351 422
1 BeOODO 0 127 241
ooooo 446 151 0
BeOODOO 0 168 205
J BeOODO 0 42
ooooo 725 0
BeOODOO 0 683
K BeOODO 0 6 61
ooooo 144 80 0
BeOODOUO 0 7
oo BeOODO 393658

o7
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e F25SD0 9.6 < AE < 13 [MeV]
e J000000-16<z <12 [mm]

YBeO A/Zz0000D0DO (A4/Z=25)0000000000000000000 TOFOO
O00000000000000000000D00000000000000000000
00000000000000000000000000000000000000000
0000000000000 0000000000000000000 400 S8ShbO000
Nal 000000000000 000000000000000000000000000
O000O0TOFOOO0DO0D00DOOOO0ODO0DOO (0347,34800000000)0
000000000000000000000 run00 CO00 “BeO PileupO OO0
00000000000 un000000000000O0OOO TOFOOOOOOOOO
2BO000D000O000D0D ¥BOOOOOODO (O0347,348)0 00 A/ZzDDOOOO

=y
(=]
L
1

-
(=]
.

\I\I\Ill IIIHIH‘ IIHHIIl \IIIIIH‘ IIHIIII| \\IIIIH‘
-

Number of count
-
(=]
2

=
(=)
w

=
(=]

il

F2Si dE [MeV]

]

0 347 A/Z=25000000000000000000000A4/Z=2500000'%Be,'?B
0000000YBe, 0000 (run0110)0 OO0 OF2SSD O AE [MeV], 000 TOF [ns]

00000 Li00000000000000000TOF00000O0OOODODOOOO00
O0000DOOoo00o0ooooO00oDO AR, 000000000 ODOOOO040
OSSbOCOONalOODOODOOOCOODOOODOOOOAFDOOODOOOODODOOO
oooo0o00o0o0o0oOoooooooooooooO TOF,0O0DOODODOOOOOCODDODOO
OoToroooOoOOooDooOoood

gboooboobobooboobobbobooboobdbdumo1ll0DO0ODO0
gboboboboboooooboooooon

BeOODOODOODO

UboobOobD BeODOODOOOODOODO 3130 run01100000 BeOOOODOOOD
gobooboooooboog



3.5. YBeO OO

Number of count

- =9 - =
= (=] (=] (=]
[} [Z] o o

=
(=]
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==}
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T

it

F2Si dE [MeV]

99

0 348: A/Z=2500000000000000000000000A/Z=2500000
1YBe, 00 12BO1%Be, 00 00 (run0110)0 OO0 O F2SSD O AE [MeV], 00 O TOF [ns]

0 3.12: run0110, 0111 0000000

run | OO0 | 2B 14 00
0110 | 531110 | 0  0.1+0.1 0.14+0.1
0111 | 459555 | O  0.9+0.4 0.9 +0.4




030 0OO0D0OO00bOO0oD0Oo

0 3.13: Be00DDDO0O0O00OOYBe, 0000 (run0110)

un un Si200 Si300 Si400
A BeOODO 470755
ooooo 0
BeODOOO 0
B BeODOO 0 0 41452
ooood 41911 41911 0
BeOODOUO 0 0 459
C BeOODO 0 0 6252
goood 6474 6474 0
BeOODOO 0 0 222
D BeOODO 0 0 5689
goognd 6085 6085 0
BeODOOO 0 0 396
E BeODOO 0 0 151
goognd 300 217 0
BeOODOUO 0 83 149
F BeOODO 0 0 210
goood 1965 704 0
BeOODOO 0 1261 1755
G BeOODO 0 0 176
gobood 343 343 0
BeOODOO 0 0 167
H BeO OO 0 131 132
ooood 224 1 0
BeOODOUO 0 92 92
1 BeOODO 0 10 22
googd 103 25 0
BeOODOO 0 68 81
J BeOODO 0 3
ooooo 447 0
BeOODOO 0 444
K BeOODO 0 0 9
ooooo 71 21 0
BeOODOUO 0 50 62
oo BeOODO 524851




3.5. YBeO OO 61

000000 00o0oooo (N,.=531110)000000000 BeOOOOODOOO (Npee)
05248510 00000000000 0ODO

OO0 BeOOODOOODOOOOOOODOODOOOSL, 2000000000000 20
%00000000000000Si,20000000000000 Npe=52489000000
000 AN,.=3900000000000

000000 un0111000000000000000 (N ,=459555)0 0000000

wmc

0BeOOOOOOOO (Npee) O 4541060 AN, =28 0O O0O0O0OOOOOODOODO
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40 OO

CCCSO0O000000000000000004100000000000000000
00.9027+0.0019 [¢/cm?0 0000 CCCSOOOOOO

041 00000000

0000 (00) | run number | N/ . N, | AN, | Npce | ANpee
2Be(0 D) 88 280136 | 3.7 | 1.6 | 264877 | 57
89 454284 | 16.4 | 3.8 | 428907 | 124
2Be(0 D) 98 636759 | 42 6 | 628716 | 50
99 651518 | 31 7 | 643129 | 48
UBe(O D) 75 230086 | 27 6 | 217299 | 33
76 352091 | 9.1 | 3.4 | 332896 | 42
UBe(O D) 83 405184 | 2.5 | 1.4 | 400227 | 42
85 531318 | 5.1 | 2.1 | 524614 | 50
Be(0 D) 102 685272 | 1.3 | 1.2 | 649015 8
103 415681 | 1.6 | 1.5 | 393658 6
OBe(0 O) 110 531110 | 0.1 | 0.1 | 524851 | 39
111 459995 | 0.9 | 0.4 | 454106 | 28

4.1 CcCcCsOOnO

0000000 CCCSO0000000000000000000000000000CCCS
00 (41)00000000 (4.2)000 (4.2)0000000000 (4.3), (4.4), (4.5) 00

gooooao
1 NOncc/NOinc 1

Oce = —IN———7——— =

t Nncc/Ninc ;

() (e R G- () e

0
In— 4.1
S (4.1)

B - »

inc Oinc
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{A(v/%)s
’Y/’Yo

NOncc(Nncc + A-Z\[ncc) 2

-1

-1

Nncc (NOncc + AJVOnCC)

040 0O

(4.5)

0410000000000000000 CCCSO0ODDOOOOOnnooooon
00000000000 000000000000000 BeODOOODOOOOODOO
00 (0D (45)00000000000000000000000000D0000000O0
000000000000 000000000D0000000D0000000000000
000000000 D0DO0O00CCcCS00000Dnnoooononooooonononooo
000000000 4200000000000000 CCCSOOOOOOOOOOOOO
0000043000000000000000A4,00000 (0000)0Apgtat000
00 (0000)0ANDODOODODOD0O000000000 (0000)dANO0000
0000000000000 (0000)0AgOBe00DOOOO0DODOOOOAOOO
O000D000000000000 (Ace/oe)?0000

042 000000000 CCCS

0000 | run number v Yo Oce [mb] | Acee/0ce | Aoee [mb]
12Be 88, 98 0.9455 | 0.9874 958 0.012 11
89, 99 0.9442 | 0.9872 984 0.010 10
MRBe 75,83 | 0.9445 | 0.9878 | 989 0.012 12
76, 85 0.9455 | 0.9874 958 0.010 9.8
10Be 102, 110 0.9471 | 0.9882 939 0.0079 7.4
103, 111 0.9470 | 0.9881 939 0.0097 9.1
043: 00000000000 (Avw/0e)?00000
0000 | run number | (Aoe/0ee)? | Agtat Apstat AN Aon Ag Ay
12Be 88, 98 1.3E-4 1.1E-4 | 1.1E-5 | 1.7TE-8 | 4.7TE-8 | 9.8E-6 | 4.4E-6
89, 99 1.0E-4 6.6E-5 | 1.0E-5 | 3.5E-8 | 5.8E-8 | 2.3E-5 | 4.4E-6
MBe 75, 83 1.5E-4 | 1.3E-4 | 1.5E-5 | 3.4E-7 | 6.0E-9 | 1.1E-6 | 44E-6
76, 85 1.1E-4 87E-5 | 1.3E-5 | 5.0E-8 | 8.3E-9 | 5.1E-7 | 4.4E-6
10Be 102, 110 6.2E-5 4.5E-5 | 1.2E-5 | 1.7E-9 | 2.0E-11 | 3.8E-9 | 4.4E-6
103, 111 9.3E-5 7.5E-5 | 1.4E-5 | 7.2E-9 | 4.2E-10 | 2.2E-9 | 4.4E-6
000oooOo0ooooooooooboooooooDoon Xq1,Xe,---, X, 00000
00 AX),AXs, - AX, 0000000000000 X0O
X — 2 k=1 Wk Xk (4.6)

22:1 Wk




42, 00OO0O0OO0O0DOODO 65
000000000 w,=1/(AX)?0000000000000000000

1
AX)Y = ——
( ) D 1 Wk
goooood (4.6),(4.7)|]DDDCCCSDDDDDDDDDDDDDDDDDDDDD
000000000 o0oooooooooooooO cccsououoooooooon
4400000000000 Adustay 000000 Avpyeysy 000000000

(4.7)

O 4.4: CCCS
ooon | oc [mb] AO-cc(siiat) [mb] AO-cc(syst) [mb]
2Be 974 7 5
1Be 970 7 2
10Be 939 6 2

4.2 0OOO0OOOOO

ccCSO0O0ODO0O0DOO0O0ODOOOONO0OONO0nO00000000000000O000
0000000000000000000000000000000O0000000000
000000000000000000000 420000000000 run0000 40
000 runD 004%0000000000000000000000O00O0 CCCSOOOOOO
00000000000000 CCCSO0O0O00DO0nnOonoooonononooonoonn
0000 CCCSU0DO00O0DO0D0NON0O0n0n4200000000000000 oe
00001%00000000000000 ®BeO "BeOOOOODOOO 6..,00000
00000 1%000000000000 ¢,.,00000000000000 410000
00000000000000 Ae., 00000000000 4500000000000
000000000000002300000000000000000 2000000
009.4%0000000000000000000000000000O000OO0O00OO0
00000000000000000000000000000000000000000
00000000000000000000000000000000O000000000
000000000004400000000 Aoy 0000046000000000
DBeOOd 000000 CCCSOOO10°00000000000000000O0O0O0OO
0000 ?Be0!'Be0 000000000000 OO0O0ODOOOODOOOOOOOOOOD
0 2Be0000000O0O0OO0DOOO

000 CCCSOO0D00D0D0000004600000000000000001"YBel
HBe000000000O0DOO0O0O0DOOOOO0DOOOODOOOCCCSOO0O0OOOO0ON
00000000 YBeO CCCSOODDODOO0O0OODDOOOOOODDOOOOOOIsotope
Shift 000000000 %MBed 0000000000000 O0O0DOOO0OOO0OOOO
0000 cCccCSO00O0OO00noOoOoooOooonoooooonoonoooooonoooan
000000000o00O0on
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o
@
=)

©
B
1)

L 1
1.5 12

Mass number

040

0O 4.1: CCCSODO0O0O0O0ODO A, 000D0D0O0O0e. 000000000

045 0000000

0000 |runnumber | 0000000 [00:Aocc]

12Be 88,98 2.4

89, 99 2.6

HBe 75,83 2.6

76, 85 3.2

0 4.6: CCCS
0000 | oc [mb} AO-cc(stat) [mb] AO-cc(syst) [mb] Aoee [mb]

12Be 974 7 25 26
Be 970 7 30 31
10Be 939 6 24 25

guo
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gooocCccCcsO00oOdlNnonnooo0oooononoononoooooooonn
0000000000000 4.10000 N, O AN, Orun0000000000DO00O0OO0
N, 0000000000000 0000TOF-AEDO0ODDOOOOOOrmO000000
00000000000000000000000000000000000000000
0010000000000000000000000 N,00000D00CcCccsOonooonn
OO0CCCSDO 051 mb] 000000000000 440000000000000000
0001000000000000000000000000CCCSO run00000 10 [mb]
0000000000000000000000 1000000000000 N,000000
00000000000000000000000000 1000000000000000
00000000000000000000000000000 CCcCcsOn000 42000
0000000000000000000000000000000000000 AN, O
00000000000000000000000000000000000000 410
001000000000000000000000000000000000

000000 BeOOOODOO Npe 000 Nopee 0000000000 DOOODOOO
0SShO00O0 ZOOOODOOOODOmmOO000000000000000O0O000OO
00000000000000000000000000000000O0cCccCcsSOoon0nn
00000000000000000000000000000000000000000
0000000000000000000000 Si1,200000 20%000000000
00000000000000Si3,4000000000000000000000000
00000000000000NwO Noppee 000000000000000000ODOO
000000000000000000000000 BeOOOODOOOOOODOOOOO
00000000000000000000000000000

000000000000000000 2BeOMBeO CCCSOODODOO 2.7%03.2 %0
00000000000000YBeDOO0OO0 CCCSO27%0000000000000
O000CCCSOO0 2Bed 974+ 26 [mb]01'Bed 970+ 31 [mb]0 °Be 0 939+ 25 [mb]
000000000001 % 00000 CcCcCSO00000000000nonoooonoonn
000000000000000000000000 BeOOODODOOOODOODOOOOO
00000000000000000000000000000
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s Uouubd

5.1 UOODOOO

0000 9-12Be0 CCCSO 1 %000000000000000O0020090 100 20-30
000000000000000 (RCNP)O ENOOOOOOOOO

00000000000000000000000000 00 AVFOOOOD0OO00DO
0000000 80 MeV/nucleon 00 OOOBeO0O0O0O000000000 BeOOOOOO
000000000000000000000000000000 BeOOOOCOOODO
000SShO00 AE-AB-AE-AE0DOO0ODDOO

000000000000000000CO000000000000000000000
0000000D000CCCSOO00 2Bed 974+ 26 (mb]dMBed 970+ 31 [mb]d1°Be O
939+ 25 mb|]0 0000000000000 D0D00D 1% 00000 CcccsOononononn
00000000000000000000000000000000000000000
00000000o0ooooo

5.2 U0

gboooooooboboooooogoboboboboooooobobooooobon
ooocccstoopooooopooobooooooooboooooooboooooDooOoon
gobobobobooboobobobboboobboboobooboobooboooboon
oooooooooboo0ooobo0tdwnb0OO0O0O0OPIlewpd00OOoOOOoOoOODO
ooooOoboo0oOo0ooobooobOoOoboo00oDoooDOog pilevwpdOOOoOooOODO
gobooboooobooobooo

OooOoooooceccsoooouooonono BeoOOOOOOoOoooDOOOOOOO
oboobogoobooooooobobobobobobobob00 BeOOOooooooOO
O0O0O0O00O0OIsotope Shift 000000 OOOOO0ODOOODOOOOO
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HREN

gbooboooooooobobobobooobooboboboboooooboobooboon
goboobooooon
gboobopobooobobooboobobobboobobbooboboobbonbobo
OOORCNPOOOOOOOOOOOOOOOODOOOOOOOOOOOOODODODO
gbobooboobooboobooboobboobooboooboobbooboad
goboobooobobooobooon
gboooooobogboooooooboboboooooooobobobooooobooon
goboobobooboobooboobuooboobbooboobooboooobbon
gobogobobooobooobbooobooobbooobboooboboooobobo
gbobobobobobobobo
gbboobobooboboooboobbobboobooboobooobooboang
gobodboooobooboooobooboonobooboon
gboooooooboboboobooooobobooboboooooboobobooooon
gboboobobooboobobobboooobobooboobooboooboooaoooboon
gobooboboobbobbooooboobooboboooDoobooboobobon
goboobooboobooboobooobooboobooboobooboobooobooooboooDbo
goboobobooboobbobobooboobooobobooboboboobboooban
gobooboobooboobooboobooboobooboobooboobon
gboboobooboobobbobbobboobobbobbobboobooboad
gooog
gbobobooooooooobooboboboboboooboobobobobbobo
gboobogboboobuooooboobobuoobobobobooobobobooobo
OO0oOO00oO0ORCNPOOODOOOOOOOODOODOODOODOODOODOODO
0000000000000 000000O000O0DO00DO0ODODOO0 RCNPOOODOODO
gbobooboobuooboaobboboboboobooboobooobooboobbob
ooo0opooOoOoOooOoOoOoobooooOoGSIcoobooO0oDOoDoboOoOoobooOooooDo
goboobooboboooboobboobuooboobboobooboo
gbboboboboboooobboobuoobooboobooboooboobooongad
goboboobobooboobobobboboobbobbobooboobobboooboonoon
gobooboooobooboooon
ubbogbuoobbooboobbooboobboobooobbooboab
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0 OA 0000

o000 1200000000000 focusOODODDODOOOODODOOODOO focusO DO
gbobobooobuooboobuoobuooboobooboboobooboobooboan
O0F20000 focusOOOOOODOOSX300O 1363 rmO000O0D0OOOO0OO

A.1 FO-F1
FO-F1000000000 QIU,QIM,QIDOO000O000O00O0N0On

0 A.l: QIU,QIM,QIDOOOO0

00 | (B'/a)/Bplm~?]
QLU 3.45998
QIM ~4.18691
Q1D 1.84325

000 B'/a00000 [T/m]0BpO0 00000 Rigidity[T-m] 0000

A.2 FO-F2
FO-F2000000000 Q2,Q3U,Q3M,Q3D 0000000000 dy/ROODOOOO
0A10000000A10000000D0O00O0O00O0O00O0O000O0O00000000

00 (B'/a)/Bp m™2|0 y0OO00dy/RO x 00000000
Q2 :y = 0.14332° — 0.1552* + 0.11472% + 0.32912% + 3.3604z — 0.2408

Q3U : y = —35.5122° + 34.6672* 4 4.66342> — 3.25792% — 4.7364x — 0.9476
Q3M : y = —51.0922° + 41.958z* — 29.32423 + 1.01842% + 3.1737z + 2.9189
Q3D : y = —38.6042° + 14.7652* + 23.42423 + 1.607922 + 0.6665z — 2.9593
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75

bbbt rwnO00000D0OO0O0O0O0O0O0DOOOODODOOODODOOOOD F1
oboobobobo B10UOrmmOOO0OO0DOODOODODOODO B200O000O0OO0O0OOO

oo Bl1OOobOobOobOobOobobo™@oobob+xboboboboo

0 B.1:0000000000000000O00O0OOOO0OOO0O0O0OO(O)run0083: 0+15,
run0085:0+20

0000 (000000) | BedO [g/em?] | AlOO [g/em?] | F1IOOOO000 [mm]
PBe(0ODDO) 1.863 0.4146 0410
PBe(0ODDO) 2.279 0.6877 54 25
UBe(mODDO) 1.197 0.6877 0410
UBe(mODDO) 2.279 0.6877 0+15, 04+20(0)
WBe(mODDO) 1.197 0.6877 0410
WBe(mODDO) 1.863 0.6877 7.54+7.5

0 B2:runtable0000000Orun0 IDOOOOOOOOOOO [O)0O00O0OOOOODO
000000000 (Total event / Run time)O Live time [%] 00 00

Run number | Beam | Run time[min] | Total event O | Trigger rate[/sec| | Live time [%)]
75 HBe 34 1437864 713 70
76 HBe 31 1338765 729 69
83 HBe 26 1021734 657 71
85 HBe 32 1462746 755 66
88 12Be 32 779635 410 81
89 12Be 31 1440152 770 70
98 12Be 30 1005575 556 75
99 12Be 30 973972 534 75
102 10Be 31 944657 503 71
103 10Be 31 878877 475 72
110 10Be 35 640925 303 80
111 10Be 30 555554 305 80
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